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N.B. 1. Q.1 is Compulsory. - 230 $o S 30

2. Attempt any Four out of remaining Six Questions.
3. Figures to the right indicate full marks.

. a) Explain Stop and wait protocol and sliding window protocol with example and

suitable diagram. &

b) What is subnet address if the destination address is 198.47.3 nd subnet mask is
255.255.224.0 6

c) For message frame 1101011011 and G(x) = x? +xt l*t transmitted frame.

2. a) Explain the need for the layered architecture in gom etwork. Explain how

information is exchanged between two nodes ug I model.
b) Explain framing, flow and error control in & Layer.
3, a) What is the purpose of Digital Subscribef \ L)? Explain ADSL.
b) What is the difference in functionalitie '@ ccn a bridge and a repeater? Explain the

process of learning in case of transpare ge.
4, a) What is Carrier Sense Multiple /% ith Collision Avoidance (CSMA/CA)
protocol? Explain with timing %m.

Ciacuit and datagram subnets.

b) Differentiate between Virtu

5.a) What is count to infinit em in distance vector routing?

b) i) What is AddresS®esolution Protocol(ARP)?
it) Explain Classless Inter Domain Routing (CIDR).
7. Write notes on: (any four)
i) SONET
i) IEEE 802.11WLAN
i) Berkeley Socket
iv) Point-to-Point Protocol(PPP)

V) Differentiate between Hub and Switch
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